Pre-Caleulus Worksheet

T Write each parabold's equation in standard form given the following...

1. Vertex (0,0) and focus (0,8)

% =34 f)

2. Vertex (0,0) and directrix x =12

jzi?{ex

3. Vertex (2,2) and focus (6,2)

(\3* 2) e |6 (x -2)

4. Vertex (~3,4) and directrix y =6

(x¢3) = ~tly-4)

5. Vertex (2,-6), c=-2, and axis of symmetry
x=2

(x-2) = "X(\a'* (a)

7. Vertex (3,0)
symmetry

. €=2,and vertical axis of

(x=3Y %LJ

6. Vertex (3,—5) , horizontal axis of symmetry,
latus rectum length of 12, and opens to the left

( tj+§)23~ “14 b“%)

8. Vertex (—5,3) and directrix x =-2

R

= -12(xt5)

(5—3)




IIL Given each parabola, find the requested information and then graph.
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Standard Form of the Parabola: -~ i = ‘“J\ (X* 5)




